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15. Next, I’d like your overall opinion of some foreign countries.  What is your overall opinion of [RANDOM 

ORDER]?  Is it very favorable, mostly favorable, mostly unfavorable, or very unfavorable?   

 
L. Israel 

 Very  

favorable 

Mostly 

favorable 

Mostly 

unfavorable 

Very 

unfavorable 

No  

opinion 

Total 

 favorable 

Total 

unfavorable 

        

2021 Feb 3-18 26 49 17 6 2 75 23 

        

2020 Feb 3-16 30 44 18 7 1 74 25 

2019 Feb 1-10 28 41 





 

 

19. In the Middle East situation, are your sympathies more with the Israelis or more with the Palestinians? 

 

    



 

 

20. Do you favor or oppose the establishment of an independent Palestinian state on the West Bank and the Gaza 

strip? 

 

  Favor Oppose No opinion 

    

2021 Feb 3-18 52 37 12 

    

2020 Feb 3-16 55 34 10 



  



 

 

 



 

 

 

 
 

 

MaleMale

Male Female White

Non-

white 18-34 35-54 55+

College 

Grad

Some 

College

HS Grad 

or Less

Republic

an

Independ

ent Democrat

Conserva

tive Moderate Liberal

Unweighted n 1021 552 469 769 234 197 266 54
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